
Lord of the Rings

1. Verb - Past Tense

2. Noun

3. Coordinating Conjunction

4. Verb - Past Participle

5. Verb - Past Participle

6. Noun

7. Verb

8. Adjective

9. Verb - Past Participle

10. Verb - Past Tense

11. Verb - Past Tense

12. Verb - Past Tense

13. Verb - Present Tense

14. Verb - Present Tense
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Lord of the Rings

Aragorn decided he Verb - Past Tense to get away from it all. Being a Noun was hard work. Arwen

agreed. They mounted their

Coordinating conjunction and rode to Edoras where they were Verb - Past Participle greeted by Eomer and

the rest of the people of Rohan. Legolas

and Gimli were also there. Eomer said to the King and Queen, " You must be very Verb - Past Participle .

Come and dine with me and my Noun ." Just as they were sitting down to Verb , a giant fell

through the roof.This was not only big and heavy, but he had eaten a big heavy meal and was very

Adjective . The court was Verb - Past Participle and Aragorn fainted from dragon breath. He looked to

be a goner until Arwen Verb - Past Tense up a metal candle stick and Verb - Past Tense it over the

dragon's head. The dragon Verb - Past Tense away and Aragorn thanked Arwen for Verb - Present Tense

him. The two returned to Minas Tirith. As they were Verb - Present Tense , Arwen turned to her and said," 

Honey, next time let's a travel agency!"

©2025 WordBlanks.com · All Rights Reserved.

https://www.wordblanks.com/?utm_campaign=internal&utm_medium=pdf&utm_source=wordblanks.com

